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QUESTION 1

An administrator wants to perform Activity Monitoring on a large group of virtual machines in an NSX environment. How
would this task be accomplished with minimal administrative effort?

A. Create a PowerCLlI script to enable virtual machine data collection on each virtual machine.

B. Create a security group in Service Composer and add the virtual machines to the security group.
C. Add the virtual machines to the pre-defined Activity Monitoring security group in Service Composer.
D. Add the virtual machines to a VM folder in vCenter Server and enable data collection.

Correct Answer: C

QUESTION 2

When defining membership for a security group, which three identifiers can be used for dynamic inclusion? (Choose
three.)

A. VM folder

B. Computer OS Name
C. ESXi host

D. VM Name

E. Security Tag

Correct Answer: BDE

QUESTION 3

An NSX Administrator is examining traffic on the network shown below.
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What is the packet flow when VM1 communicates to VM5?

A. Host A will perform a destination lookup, route the packet, switch the packet onto segment 5002, then encapsulate
and send the packet to Host C.

B. Host A will perform a destination lookup, switch the packet onto segment 5002, route the packet, then encapsulate
the packet and send it to the DLR control VM.

C. Host A will encapsulate the packet, send the encapsulated packet to host C, Host C will perform a destination lookup
and switch the packet onto segment 5002.

D. Host A will encapsulate the packet, perform a destination lookup, route the packet to the DLR control VM, the control
DLR will bridge the packet onto segment 5002.

Correct Answer: A

QUESTION 4

Which vSphere network object abstracts the physical network, provides access-level switching in the hypervisor and
enables support for overlay networking?

A. Standard Switch

B. Distributed Port Group
C. Distributed Switch

D. Logical Switch

Correct Answer: C

QUESTION 5
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Which is a prerequisite for deploying an Edge Service Gateway?
A. Firewall Default Policy

B. An interface

C. Default Gateway

D. High Availability

Correct Answer: B
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